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Cuadro 3 (continuación 4)/Table 3 (continued 4)
Bolivia (Estado Plurinacional de): tablas abreviadas de mortalidada

 Bolivia (Plurinational State of): abridged life tables 
a

1990

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.106 0.098  100 000  9 808  92 759 0.875 b 5 344 590 53.4
1 4 0.017 0.066  90 192  5 989  344 535 0.955 c 5 251 830 58.2
5 5 0.003 0.017  84 203  1 425  417 453 0.986 4 907 295 58.3

10 5 0.002 0.011  82 778   906  411 625 0.986 4 489 842 54.2
15 5 0.003 0.016  81 872  1 335  406 021 0.980 4 078 217 49.8
20 5 0.005 0.024  80 537  1 952  397 803 0.975 3 672 196 45.6
25 5 0.005 0.025  78 585  1 964  388 014 0.974 3 274 392 41.7
30 5 0.006 0.027  76 621  2 105  377 842 0.970 2 886 378 37.7
35 5 0.007 0.032  74 516  2 389  366 606 0.964 2 508 537 33.7
40 5 0.008 0.039  72 127  2 832  353 553 0.955 2 141 931 29.7
45 5 0.010 0.050  69 295  3 475  337 786 0.942 1 788 378 25.8
50 5 0.014 0.066  65 820  4 366  318 183 0.921 1 450 592 22.0
55 5 0.019 0.093  61 454  5 696  293 028 0.887 1 132 409 18.4
60 5 0.029 0.135  55 757  7 521  259 983 0.838  839 381 15.1
65 5 0.043 0.193  48 236  9 308  217 910 0.766  579 398 12.0
70 5 0.066 0.285  38 928  11 112  166 859 0.659  361 487 9.3
75 5 0.106 0.419  27 816  11 655  109 941 0.523  194 628 7.0
80 5 0.166 0.576  16 161  9 313  57 522 0.374  84 687 5.2
85 5 0.258 0.742  6 848  5 084  21 530 0.232  27 166 4.0
90 5 0.375 0.867  1 764  1 529  4 997 0.124  5 636 3.2
95 5 0.515 0.942   235   221   621 0.028 d   639 2.7

100 ω 0.754 1.000   14   14   18   18 1.3
Mujeres/Females

0 1 0.089 0.083  100 000  8 321  93 793 0.891 b 5 683 064 56.8
1 4 0.015 0.060  91 679  5 467  351 916 0.960 c 5 589 271 61.0
5 5 0.003 0.016  86 212  1 339  427 713 0.987 5 237 356 60.7

10 5 0.002 0.011  84 873   942  422 011 0.987 4 809 642 56.7
15 5 0.003 0.015  83 931  1 239  416 559 0.983 4 387 631 52.3
20 5 0.004 0.019  82 692  1 537  409 619 0.980 3 971 072 48.0
25 5 0.004 0.021  81 155  1 687  401 559 0.978 3 561 452 43.9
30 5 0.005 0.023  79 468  1 803  392 834 0.976 3 159 893 39.8
35 5 0.005 0.026  77 665  2 046  383 210 0.971 2 767 059 35.6
40 5 0.006 0.031  75 619  2 331  372 267 0.966 2 383 850 31.5
45 5 0.008 0.038  73 288  2 769  359 517 0.956 2 011 582 27.4
50 5 0.011 0.051  70 519  3 614  343 558 0.939 1 652 065 23.4
55 5 0.015 0.072  66 905  4 801  322 520 0.909 1 308 507 19.6
60 5 0.024 0.112  62 104  6 976  293 079 0.860  985 986 15.9
65 5 0.037 0.171  55 128  9 437  252 046 0.787  692 908 12.6
70 5 0.061 0.264  45 691  12 055  198 317 0.679  440 862 9.6
75 5 0.099 0.398  33 636  13 381  134 726 0.538  242 545 7.2
80 5 0.163 0.570  20 255  11 539  72 426 0.382  107 819 5.3
85 5 0.250 0.730  8 716  6 365  27 666 0.244  35 393 4.1
90 5 0.355 0.851  2 351  1 999  6 755 0.139  7 727 3.3
95 5 0.485 0.930   351   327   940 0.034 d   972 2.8

100 ω 0.749 1.000   25   25   33   33 1.3

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


